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Solubility Open-ended Review

1. Write an equation that describes the equi]ibriﬁm present in a saturated solution of
CugPOd,é. 3 -
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2. 53 g of Na,CO; are dissolved in sufficient water to make 5.0 L of solution.
A. Write the {{:/quation for the dissolution of Na,(CO5 into its aqueous ions.
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Describe the changes in entropy and enthalpy as the Na,CO; dissolves.
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D. When the solution was prepared, some doubt existed that Na,SO, might have
been used by mlstake Describe a suitable precipitation test that wili confirm the
presence of CO5;”" ions in the solution.
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3. Write an equilibrium expression and an equation that describes the equilibrium for only
those salts that have low solubility: _ .
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4. A 1.0 M solution of sodium sulphide is added to a 1.0 M seolutien of copper II chloride

resulting in the formation of a precipitate.

A. Write the name and formula of the precipitate.
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B. Write the full equation for the reaction. )
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C. Write the net 10n1L equatlon for the reaction.
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5. Write balanced ne’r ionic équatlons showmg the formation of each precipitate formed

when equal volumes of the following 0.50 M solutions are mixed:
PP 2017 ey PLCL
L:ﬁ\ Camy
B. SrS and CuSO,

5 +SULD <
_..“ 4

~

50 S04 oy
- Coney) s C(Ab({)

C (NH4)QP'b and Mg(OH),
M 24 + 2 P()_‘ .. éh; M33 ( Pob‘)

6. Calculate the concentratlz)n of each ion in the following satur atea solutlons , L
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7. A suspension of barium sulphate is used to improve the quality of X-rays in the digestive
system. If the patient is required to drink 0.400 L of this suspension, calculate the actual

mass in grams of the dissolved BaSQ,. g
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8. Calculate the K, for Mg(OH), if the solubility of magnesium hydroxide is 7.6 mg/L.
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9. What maximum [F] exists in a solution in which the l'sz‘*"] = 4.4 x 10°M?
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10. Show by calculation if a precipitate forms when 10.0 mL of 0.010 M AgNO; arc mixed

with an equal volume of 0.10 M Na,COs;. - L*(._O;—] 100l * 0.0 j
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11. A solution may contain Ba?™ and/or AP, Describe a procedure to confirm the presence

or absence of these ions.
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@ How many moles of Pbl, would dissolve in water in which the [Pb2*] = 5.0 x 10°M?
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13. A 25.0 mL sample of saturated PbCl, solution is titrated to the endpoint with 48.1 mL
of 0.015 M AgNOj5 solution. Calculate the K of PbClP.
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